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QUESTION 1

Which of the following program types can contain screens? (Choose three.) 

A. Class pools 

B. Interface pools 

C. Module pools 

D. Executable programs 

E. Function groups 

Correct Answer: CDE 

 

QUESTION 2

The code of an executable program does NOT contain any event keywords. 

What event block does the code belong to? 

A. AT SELECTION-SCREEN 

B. LOAD-OF-PROGRAM 

C. INITIALIZATION 

D. START-OF-SELECTION 

Correct Answer: D 

 

QUESTION 3

What will be the value of F1 after the export? 
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A. SPACE 

B. 2 

C. 1 

D. Run Time Error will occur 

Correct Answer: A 

 

QUESTION 4

To handle user requests in a dialog program, you must assign function codes to the relevant screen and window
elements in the Screen Painter and menu Painter, mark the element that does not conin a function code. 

A. Screen Pushbuttons 

B. menu functions 

C. Coniner 

D. tool-bar pushbuttons 

Correct Answer: C 

 

QUESTION 5

A function module that has 2 classical exceptions is called with actual parameter values in such a way that both
exception conditions are fulfilled. 

How will the runtime system behave? 
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A. Both exceptions will be raised. In the calling program, sy-subrc has the value specified for the OTHERS option. 

B. No exception will be raised. In the calling program, sy-subrc has the value specified for the OTHERS option. 

C. Both exceptions will be raised. In the calling program, sy-subrc has the value specified for the second exception. 

D. The first exception that occurs will be raised. In the calling program, sy-subrc has the value specified for the first
exception. 

Correct Answer: D 
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